@ 5= BEVT g
® x=-3+ V57

_ 1 1
o] zpFA 4] §x2—§ -
o x:3i4\/5_7

-3 + V57
@ x= 2V_

2x2-3x-6=0
3+ —4.2. (-
Lo 3% 9-4-2-(-6)
4
39 +48 3+ 5T
B 4 4




ohg ol A Foll A o] A4} The st

@D x*4+2x-5=0 @ x*-8x=10
® 6x2 = 4x+9 @) (x+27 =0

® (x+1)2=10

(SBAFA) = 0Ze] oA 20| A4t 5
et @elct.
U2 B she] A4 2 el




D=m?>-4x9=0

m? = 36n

Lom=6+n (o m, n & AgSoltt)

TehA m o] Hth7t = F A2 9] 2k n = 81 o]t
oom =54 9] AHFZ 7H ©ff, n = 81 o]t




O[ZFYEA 3x% + px+ g =0 ] F 2]

2 =
x= o EEx=3 ], ptg o RS FoHI

D)-13 @ -1 ®0 @ 1

® 13

T3 A2kl BANA

_ 7
FRAG-E=2 . p=—7
E2gl-2,9=-6

3
L p+qg=-13




O|ZFAA x2 —ax—a+2 =0 2] F 7|9 A= o= Ao & P q
oI B 24 g? = 11 S WESHE 4% 0 9 FS Fotolat

=
[=

>
> Het: 3

€8 ,
o3t Al=ete] TA o o5
ptq=a, pg=-a+2
Prg=11
(p+q)*-2pqg =11
a®-2(-a+2)=11
a2 +2a-15=0
(a+5)(a-3)=0

sa=-5,3
T, 2 —ar-a+2=00] A2 OE F 459 2 AR
D = (-a)*> - 4(-a+2) > 0 °|th.

(_
2 4 4a -8 > 0°]ojof sH=t] -5 & 9] BE5A1S ntxA]7]7]
Fert,

La=3

o S

§i




OIAFTAA ¥ -3x+1 =09 F 2

= Fstodzth (& m > n)

| 2
> ®eh: 345

o
3
=
0,
I
k1

m+n=3, mn=1
m-n= /(m+n)?2—dmn= V9—4=+5
m? —n? = (m+n)(m-n) =35




1

OZPA A ax2 + bx + 5 =0 9 §F 29| \/—— d o, F

o Fra+b o e

D 5 @ 10 3®)15 @ 20 ® 25

gl = VE+20|BR 2 2L VB2
V5 -2
3t Alg=ete] A o] A
—Z = (V5+2)+(-V5+2) =4, g = (V54+2)(-V5+2) = -1

Sa=-H
b =—4a = (-4) x (=5) =20
La+b=-5+20=15




8. oMYA 2x2 —ax+b =02 F = -2, 30| T 0, ax? -
5x+b =0 9 F 9] F& Fotoizt

> E:

> He: -6

ax>-5x+b=0Na=2, b=-122 JstH
2x2 -5x—-12=0

HatA £ o) gL

[\)

— 6 oIt}

M ‘




IS
o
— | Q,
—'s

~
,_OE

@ 3x2+6x+1=0

D 6x2+4x-1=0

=0

@ 4x> +6x+1

@ 2x24+6x+1=0

@)x2+6x-1=0




Tor

% 79238 BE A9 £7h 36714 0, o] we)

ﬁ/.
zo |
o Kk

@ 7% @9% @1%d  ©13%

@54

60|22

n(n—1)

n”?-n-72=0
(n=9)(n+8)

0

n>0°]B2 n=9(%)o|tt




11.

re
pr
_0|L
rr
X,
>
2
+r
N
32
=
N
oz
riu
+
1o
2,
I

A& Al AASE x -1, x, x+ 1 0|2t 513
(x+ 1)2 = (x— 1)2 + x2of| A

X2 —4x=0

x(x—=4)=0

x = AAFolBR x =4

So34+4+5=12




12. %] oli= 5419 Lol 4 & B, 549 Lol o] AT @)
Lol o] 5 uf 5tk 4 Ao] B w), EA0] Lol i)

O 74 @8@ ® 94 @ 104 O n4d

B

Ho] o2 x + 4, $A42] o] 2 x Abola} ohwl
5(x+4) +4 = x*

X2 -5x—-24=0

(x=8)(x+3)=0

Sox=8(s x>0)

wepA 54 ] Lol= 84toltt,




13.

Ee9] Zol7} 32m o)1, Wol7t s6em? Q1 A1) 2 0] o]
= ka
=

® x(32-x) =56 @ x(16 — x) = 28

® x(32-x) =28 (@)x(16 - x) = 56
® x(32-x) =112

7}29] 1ol 2 xem#} 54, A2 Bol= (16— xjom O]tk

- x(16 — x) = 56




14.

31 glo] gtk of glo] WA 5-g 2
Kol 1=
j=}

® 157 @ 20n @257( @ 307

=AY W7t 9n

® 35n

a(r-2)2=9r
r’—4r-5=0
(r+1)(r-5)=0
r=5(-r>0)

(A= 99 Yol)=nr? = 257




15.

FAFOE Fol7h500m , FEIEOZ Pol7} 200m 9 A4
%oszcwﬂ, FEIFOR 2 0] & el

mope] gol FA
gtk =2 Yo7l AAl B wolol 8.8% 7t H=S ¥ uf, x o
Qo= ke 7127 (¢ 2ol 2 | 2 s

® 8 @)10 ® 12 @ 14 ® 16

FATFORE ¢t =2 9] {ol= 500 x x = 500x(m?) ,
HESFO R ¢ k29 Yol 200 x 2x = 400x(m?) ©] 1,
A ‘:‘J?ﬂr JE oz d £arl dA e HE Yol

B

L2 9] ¥o]& 500x4400x—2x2 = 500x 200X 80?) 900x—2x2 =

8800 ,
x2 — 450x + 4400 = 0, (x — 440)(x — 10)=0
. x=10 (-~ 0 < x < 200)




